Bid #TRN2124711B1 - Bus Stop Signs & Pole Mounted Solar Lighting Installation

Creation Date May 11, 2022

Start Date Jun 16, 2022 5:16:41 PM EDT

End Date Aug 3, 2022 2:00:00 PM EDT

Awarded Date Not Yet Awarded

RN2124711B101-01 Thick Aluminum Panels, Double Sided								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Signal Technology & Installation Inc. 🙀		First Offer - \$72.47	2000 / each	\$144,940.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
AUM Construction 🙀		First Offer - \$100.00	2000 / each	\$200,000.00	Y	Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Advanced Service Management, Inc 🙀		First Offer - \$103.68	2000 / each	\$207,360.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

RN2124711B101-02 Thick Aluminum Panels, Single Sided									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Signal Technology & Installation Inc. 🙀		First Offer - \$17.26	1200 / each	\$20,712.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Advanced Service Management, Inc		First Offer - \$34.56	1200 / each	\$41,472.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
AUM Construction		First Offer - \$100.00	1200 / each	\$120,000.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

RN2124711B1–01-03 Wedge for Nex Poles by S-Square Tube Products or Approved Equal									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Advanced Service Management, Inc 🙀	First Offer - \$5.76	350 / each	\$2,016.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
AUM Construction	First Offer - \$10.00	350 / each	\$3,500.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Signal Technology & Installation Inc. 🙀	First Offer - \$10.52	350 / each	\$3,682.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

TRN2124711B101-04 Non perforated anchor for 2"NEX Poles by S-Square Tube Product or Approved Equal								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Advanced Service Management, Inc 🙀		First Offer - \$87.12	350 / each	\$30,492.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Signal Technology & Installation Inc.		First Offer - \$115.54	350 / each	\$40,439.00		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

	Broward County Boa County Commissior			Page	Z OF 7 TRN21247
AUM Construction 🙀	First Offer - \$150.00	350 / each	\$52,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

TRN2124711B101-05 NEX Sign Post (Octagon)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Advanced Service Management, Inc	First Offer - \$244.80	300 / each	\$73,440.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Signal Technology & Installation Inc.	First Offer - \$281.77	300 / each	\$84,531.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
AUM Construction	First Offer - \$300.00	300 / each	\$90,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

TRN2124711B101-06 TGIC Yellow Top Cap for 2"	RN2124711B101-06 TGIC Yellow Top Cap for 2" NEX Post (Powder coated)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Advanced Service Management, Inc 🙀	First Offer - \$16.20	300 / each	\$4,860.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
AUM Construction	First Offer - \$20.00	300 / each	\$6,000.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Signal Technology & Installation Inc. 👔	First Offer - \$25.22	300 / each	\$7,566.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

IRN2124711B101-07 Z-Bar Bracket Set - 8" with 6" Hole Span									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Advanced Service Management, Inc 🙀	First Offer - \$30.00	1000 / each	\$30,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
AUM Construction	First Offer - \$30.00	1000 / each	\$30,000.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Signal Technology & Installation Inc. 👔	First Offer - \$30.36	1000 / each	\$30,360.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TRN2124711B101-08 Single Post and Signs, Installation in Concrete								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$108.00	300 / each	\$32,400.00		Y				
	Supplier Product Co	ode:						
	Supplier Notes:							
First Offer - \$250.00	300 / each	\$75,000.00		Y				
	Supplier Product Co	ode:						
	Supplier Notes:							
First Offer - \$362.80	300 / each	\$108,840.00		Y				
	Supplier Product Co	ode:						
	Unit Price First Offer - \$108.00 First Offer - \$250.00	Unit Price Qty/Unit First Offer - \$108.00 300 / each Supplier Product Co Supplier Notes: 300 / each First Offer - \$250.00 300 / each Supplier Product Co Supplier Notes: Supplier Notes: First Offer - \$362.80 300 / each	Unit Price Qty/Unit Total Price First Offer - \$108.00 300 / each \$32,400.00 Supplier Product Code: Supplier Notes: First Offer - \$250.00 300 / each \$75,000.00 First Offer - \$250.00 Supplier Product Code: Supplier Product Code: \$100 / each \$100 / each	Unit Price Qty/Unit Total Price Attch. First Offer - \$108.00 300 / each \$32,400.00 \$32,400.00 Supplier Product Code: Supplier Notes: Supplier Notes: \$300 / each \$75,000.00 \$300 / each \$75,000.00 \$300 / each \$300 / each <t< td=""></t<>				

Agency Notes:

Supplier Notes:

N2124711B101-09 Single Post and Signs, Installation in Grass/Soil								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc	First Offer - \$93.60	300 / each	\$28,080.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
	First Offen d 244 07		¢72 5 (1 00		v			
Signal Technology & Installation Inc. 👰	First Offer - \$241.87	300 / each	\$72,561.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
AUM Construction	First Offer - \$250.00	300 / each	\$75,000.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

TRN2124711B101-10 Sign Install on Existing Bus Stop Post									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc		First Offer - \$64.01	1400 / each	\$89,614.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
AUM Construction		First Offer - \$125.00	1400 / each	\$175,000.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Signal Technology & Installation Inc.		First Offer - \$241.87	1400 / each	\$338,618.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

TRN2124711B101-11 Demolition & Removal/Rec	cycling				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Advanced Service Management, Inc 🙀	First Offer - \$57.60	2000 / each	\$115,200.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Signal Technology & Installation Inc.	First Offer - \$60.47	2000 / each	\$120,940.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
AUM Construction	First Offer - \$75.00	2000 / each	\$150,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

TRN2124711B101-12 Mobilization								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc	First Offer - \$51,465.00	1 / each	\$51,465.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
AUM Construction	First Offer - \$100,000.00	1 / each	\$100,000.00		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Signal Technology & Installation Inc.	First Offer - \$167,288.16	1 / each	\$167,288.16		Y			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

Broward County Board of County Commissioners

TRN2124711B101-13 MOT (Sidewalk Closure, Flaggers, etc.)									
Unit Price	Qty/Unit	Total Price	Attch.	Docs					
First Offer - \$14.40	50 / each	\$720.00		Y					
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
First Offer - \$450.00	50 / each	\$22,500.00		Y					
	Supplier Product Code:								
	Supplier Notes:								
First Offer - \$1,934.90	50 / each	\$96,745.00		Y					
	Supplier Product Co	ode:							
	Supplier Notes:								
	aggers, etc.) Unit Price First Offer - \$14.40 First Offer - \$450.00 First Offer - \$1,934.90	Unit Price Qty/Unit First Offer - \$14.40 50 / each Supplier Product Cr Supplier Notes: First Offer - \$450.00 50 / each First Offer - \$450.00 50 / each Supplier Product Cr Supplier Notes: First Offer - \$450.00 50 / each Supplier Notes: Supplier Product Cr Supplier Product Cr Supplier Product Cr Supplier Product Cr <t< td=""><td>Unit Price Qty/Unit Total Price First Offer - \$14.40 50 / each \$720.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$1,934.90 50 / each \$96,745.00 First Offer - \$1,934.90 50 / each \$96,745.00</td><td>Vinit Price Qty/Unit Total Price Attch. First Offer - \$14.40 50 / each \$720.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$96,745.00 First Offer - \$1,934.90 50 / each \$96,745.00</td></t<>	Unit Price Qty/Unit Total Price First Offer - \$14.40 50 / each \$720.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$1,934.90 50 / each \$96,745.00 First Offer - \$1,934.90 50 / each \$96,745.00	Vinit Price Qty/Unit Total Price Attch. First Offer - \$14.40 50 / each \$720.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$22,500.00 First Offer - \$450.00 50 / each \$96,745.00 First Offer - \$1,934.90 50 / each \$96,745.00					

TRN2124711B101-14 8"x19" Sign Installation on Single Post								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc	First Offer - \$36.00	2000 / each	\$72,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$75.00	2000 / each	\$150,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Signal Technology & Installation Inc. 👔	First Offer - \$241.87	2000 / each	\$483,740.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

TRN2124711B101-15 Solar Pole Mounted LED Light Purchase								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Smart Era Lighting Systems		First Offer - \$1,385.20	125 / each	\$173,150.00	Y	Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
AUM Construction 🙀		First Offer - \$2,400.00	125 / each	\$300,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Advanced Service Management, Inc 🙀		First Offer - \$2,792.16	125 / each	\$349,020.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Signal Technology & Installation Inc.		First Offer - \$2,993.54	125 / each	\$374,192.50		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

TRN2124711B101-16 Solar Pole Mounted LED Light Install							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Advanced Service Management, Inc		First Offer - \$47.52	125 / each	\$5,940.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
AUM Construction		First Offer - \$250.00	125 / each	\$31,250.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Smart Era Lighting Systems		First Offer - \$295.00	125 / each	\$36,875.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Signal Technology & Installation Inc.		First Offer - \$1,451.18	125 / each	\$181,397.50		Y	

Supplier Product Code: Supplier Notes:

TRN2124711B101-17 Trimming and Disposal of Tree Branches								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Advanced Service Management, Inc		First Offer - \$21.60	115 / each	\$2,484.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
AUM Construction 🙀		First Offer - \$100.00	115 / each	\$11,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Signal Technology & Installation Inc. 👔		First Offer - \$483.73	115 / each	\$55,628.95		Y		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

TRN2124711B101-18 Installation/Removal of Poster Signage								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc	First Offer - \$23.04	4000 / each	\$92,160.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
AUM Construction 🙀	First Offer - \$75.00	4000 / each	\$300,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Signal Technology & Installation Inc.	First Offer - \$181.40	4000 / each	\$725,600.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

TRN2124711B101-19 Bus Stop Survey								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc	First Offer - \$25.20	2460 / each	\$61,992.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:	Supplier Notes:							
AUM Construction 👔	First Offer - \$40.00	2460 / each	\$98,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Signal Technology & Installation Inc. 👔	First Offer - \$151.17	2460 / each	\$371,878.20		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

TRN2124711B101-20 Allowance								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Advanced Service Management, Inc 🙀		First Offer - \$98,000.00	1 / allowance	\$98,000.00		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Signal Technology & Installation Inc.		First Offer - \$98,000.00	1 / allowance	\$98,000.00	Y	Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					

Supplier Totals

f Advonced C	Constan Managament Inc	¢4 289 745 00 (20/20 items	A
r Advanced S	Service Management, Inc	\$1,388,715.00 (20/20 items	5)
Bid Contact	Sonny Mohamed sonny.mohamed@gmail.com Ph 954-668-9234 Fax 305-916-1133	Address 2237 NW 77th Terrace Pembroke Pines, FL 3302	4
Supplier Code	e VC0000116321		
Qualifications	CBE DBE SB SBE		
Bid Bond	👔 (Status: Authorized on Aug 1, 2022)		
Agency Notes	5:	Supplier Notes:	Head Attch: 🎚
Bid Allowance			\$98,000.00
f Signal Tech	nology & Installation Inc.	\$3,527,659.31 (20/20 items))
Bid Contact B	Burt Tsang	Address 3500 Park Central Blvd N.	
	otsang@sti-fl.com	Pompano Beach, FL 33064	
-	Ph 954-327-2434		
Bid Bond	👔 (Status: Authorized on Aug 3, 2022)		
Agency Notes	5:	Supplier Notes:	Head Attch: 🎚
Bid Allowance			\$98,000.00
Smart Era Lig	ghting Systems	\$210,025.00	(2/20 items)
	Andrew randall	Address 4747 Kester Mill Rd Bldg B	
	randall@selssolar.com	Winston Salem, NC 27103	
	Ph 704-495-1978		
Agency Notes	5:	Supplier Notes:	
AUM Constru	uction	\$1,990,650.00	(19/20 items)
Bid Contact	Patricia Gonzalez	Address 6011 Rodman Street	
	aumconstruction@outlook.com Ph 954-544-2656	Suite 208 Hollywood, FL 33023	
Qualifications	CBE MBE SB	11011ywood, 12 33023	
Bid Bond	(Status: Authorized on Aug 3, 2022)		
	LA	Cumilian Nation	
Agency Notes	5:	Supplier Notes:	

**

No Bids

Signstar Would not be able to competitively price this project